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The WID in [1] has the following objective:
	The detailed objectives of this work item are as follows:
1. Specify solutions for the following PC5 functionalities, which can co-exist in the same resource pools as Rel-14 functionality and use the same scheduling assignment format (which can be decoded by Rel-14 UEs), without causing significant degradation to Rel-14 PC5 operation compared to that of Rel-14 UEs: [RAN1, RAN2, RAN4]
0. Carrier aggregation (up to 8 PC5 carriers);
0. 64QAM;
0. Reduce the maximum time between packet arrival at Layer 1 and resource selected for transmission;
0. Radio resource pool sharing between UEs using mode 3 and UEs using mode 4;



 In RAN1#91, the following was agreed [2]:
	Agreement
· Higher layers can configure set of carrier(s) (Set-A) that can potentially be used as the synchronization carrier for the potential carriers configured for Tx and Rx for CA
· If this set is empty, Rel-14 independent synchronization is used per carrier
· RAN1 assumes that carriers can only be aggregated in this behaviour if they use the same synchronization reference (e.g. GNSS, or same eNodeB)
· If this set is non-empty:
· Set-A must be a subset of the set of potential carriers configured for Tx and Rx for CA
· Note: this includes the case when Set-A is the same as the set of potential carriers configured for Tx and Rx for CA
· Note: At any given time, the UE may not be capable of reception and/or transmission on one or more of the configured synchronization carriers due to limited Rx and/or Tx chains
· UE determines the available set of synchronization carriers (Set-B) as the subset of Set-A based on the carriers which the UE is currently aggregating.
· Note: This does not exclude the UE implementation or proper higher layer configuration that allows Set-B to be the same or a subset of Set-A by choosing the carriers its aggregating.
· Within the Set-B of available set of synchronization carriers: 
· If no potential synchronization carrier is present, Rel-14 behaviour of independent synchronization per carrier is assumed.
· If only one potential synchronization carrier is present, UE shall use derive time/frequency of all the aggregated carriers from the synchronization reference of the synchronization carrier.
· If two or more potential synchronization carriers are present, FFS how the UE selects one of the carrier to be used as the synchronization carrier.
· The following working assumption is confirmed in the context of this agreement
· From the transmitting UE perspective, a single synchronization reference is used for all aggregated carriers
· When a UE transmits multiple MAC PDUs on multiple carriers, timing on all transmission carriers is aligned
· Working assumption: From the receiving UE perspective, a single synchronization reference is used for reception of all aggregated carriers
· This does not preclude UE to monitor different synchronization sources on the different carriers
· Note that the terminology used in this agreement (e.g. synchronization carrier, Set-A, Set-B) are limited to this agreement.



In this contribution, we discuss the working assumption along with other synchronization aspects for CA. 
Synchronization references
The agreements from RAN1#91 have left the following aspect to be resolved:
	FFS how the UE selects one of the carrier to be used as the synchronization carrier.


In our opinion, the Release 12-14 behavior should be generalized to the multiple carrier cases. That is, the UE should select the carrier with the largest RSRP value. 
	If two or more potential synchronization carriers are present, the UE selects the carrier with largest RSRP measured value to be used as the synchronization source.
To avoid undesiable ping-pong between carries, appropriate hysteresis thresholds must be introduced.
	Hysteresis thresholds are introduced to avoid undesirable ping-pong between synchronization sources.
Transmission of SLSS/PSBCH
Backwards compatibility is a crucial common denominator of all the objectives of the WID. In the case of synchronization, any lack thereof will jeopardize the coexistence of Rel-15 and legacy UEs.
Ensuring backwards compatibility has highest priority in the WID.
Any lack of synchornization between Rel-14 and Rel-15 UEs will cause significant performance degradation to all UEs in the scenario.
For this reasons we believe that SLSS signals must be transmitted by all UEs in all carriers as per Rel-14 specification.
Synchronization signals such as SLSS should be transmitted independently on each component carrier (following Rel-14 specification).
Conclusion
In this paper we have observed and proposed the following:
1. 	If two or more potential synchronization carriers are present, the UE selects the carrier with largest RSRP measured value to be used as the synchronization source.
	Hysteresis thresholds are introduced to avoid undesirable ping-pong between synchronization sources.
1. Ensuring backwards compatibility has highest priority in the WID.
Any lack of synchornization between Rel-14 and Rel-15 UEs will cause significant performance degradation to all UEs in the scenario.
Synchronization signals such as SLSS should be transmitted independently on each component carrier (following Rel-14 specification).
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